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Bellwork: ACT Prep

The shaded region in the graph below represents the
solution set to which of the following systems of
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Homework 7.4 Solutions
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13. -2sin(2x)-1
15. sin(1/3x)+3
17. 4cos(11/4x)+1

14. 3sin(1/2x)+1
16. -sin(1Tx)-2
18. 2cos(3x)
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Homework 7.4 Questions ¥a= /|Z k=3
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Today's Objectives:

Review for Unit 7 Test

February 02, 2018



Unit 7 Review.notebook February 02, 2018

Find the area of each figure. Round your answer to the nearest tenth.
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Find the missing side lengths. Leave your answers as radicals in simplest form.
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Find the value of each trigonometric ratio. 36 ’Y\
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Find the measure of the indicated angle to the nearest degree.
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Use the unit circle to find the exact value of:
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Graph the following equations C\ - 2
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